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SAT |r] i

SATISFIABILITY

INSTANCE: A set U of variables and a collection C of clauses over U.
QUESTION: Is there a satisfying truth assignment for C?

For example, U={uy,u;} and C= {{u,, 7}, {7,u;}} provide an in-
stance of SAT for which the answer is ‘“‘yes.”” A satisfying truth assignment
is given by t(u)=1t(uy)=T. On the other hand, replacing C by

C'= {{H[,Hg], (u,,%,}, (@)} vields an instance for which the answer is
“no’'; C'is not satisfiable.
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3SAT A

3-SATISFIABILITY (3SAT) '
INSTANCE: Collection C = {¢y,¢q, . . ., ¢} Of clauses on a finite set U of
variables such that |¢;|=3for 1 €< i< m.

QUESTION: Is there a truth assignment for U that satisfies all the clauses
in C? _
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